Formulas

Fourier sine series for f(z) on [0,7] is Y.~ B,sinnz and the cosine series is
Ao+ >0 Aycosna where Ag =1 [T f(z) do, A, =2 [ f(x)cosnz dz, and
B, =2 [ f(z)sinnz dx
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Full Fourier series for f(x) on [—m, 7] is ag+ Z(an cosnz + b, sinnz)  where
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The complex version is Z cne'™®  where ¢, = — / f(x)e™ ™ da
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Facts: cg = ag, and if n > 1: ¢, = “"‘Tw" and c_, = %

Parseval’s identities (Bessel’s inequality with < in place of =)
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Fourier transform of f is (Ff)(s) = f(s) = — x)e T dx
fis (Ff)(s) = f(s) W 700]"()
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Inverse Fourier transform of g is (F~ " g)(z) = g(x) = — g(s)e*** ds
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Fourier cosine transform of f is (F.f)(s) =/ — / (x) cos(sz) dx
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Fourier sine transform of f is (Fsf)(s) =1/ — (x)sin(sz) dx
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The Plancherel formula is /
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